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There are 2 main types of KU questions 

1. Describe Questions

· Describe the events of…

· Describe conditions in …

· What happened at…

2. Explain Questions

· Why…

· Explain why…

· For what reasons…

For these questions the examiner is looking to see if you can do the following things

· Understand the question which will ask you to explain the key historical developments and events you have studied.

· Understand the main points referred to in the source.

· Pick out relevant and accurate points from the source and use them to answer the question.

· Add recalled knowledge which is accurate and relevant.

· Organise and structure you answer into clear sentences and paragraphs, with a concluding sentence.


1. YOU MUST USE THE SOURCE AND RECALL KNOWLEDGE IN YOUR ANSWER.

2. DO NOT COPY THE WHOLE SOURCE – QUOTE FROM THE SOURCE BUT EXPLAIN THE SIGNIFICANCE IN YOUR OWN WORDS.

3. DO NOT LIST – EACH POINT NEEDS TO BE EXPLAINED IN A SEPARATE SENTENCE  


Step 1

Read the question carefully and then read the source.

Step 2

Write an introduction sentence to your answer.

Step 3

Pick relevant points from the source which answer the question.  Explain each point in you own words, in a separate sentence.  The number of points needed depends on the number of marks.

Step 4

Add you own relevant recall knowledge.  The number of points needed depends on the number of marks, for example, a 5 mark question might have 3 points from the source AND 2 points from recall.

Step 5

Write a conclusion sentence summing up your answer.


Source A is the judgement of Edward I on the Scottish succession

King Edward, lord superior of the Kingdom of Scotland, judges that John Hastings and Robert Bruce shall receive nothing.  He declares that John Balliol, nearest heir of Margaret, daughter of the King of Norway, shall receive the Kingdom of Scotland.

Explain why King Edward decided that John Balliol should be King of Scots (use Source A and recall)                                                             (3)
(Introduction)

There were several reasons why King Edward decided that John Balliol should be King of Scotland. 

(From Source A)

King Edward was the ‘lord superior of the kingdom of Scotland’ and decided on the rightful heir to the throne (1).  King Edward chose Balliol because he was ‘the nearest living heir of Margaret the Maid of Norway (1).  

(From Recall)

John Balliol was chosen because he was descended from the eldest daughter of David, Earl of Huntingdon (1). Edward chose Balliol was because his claim to the throne was stronger than Robert Bruce and John Hastings (1).
(Conclusion)

Therefore Balliol was chosen by Edward as he thought he had the strongest claim to the throne. 

* Maximum of 2 out 3 (or 3 out 4) for answers which refer only to recall or only to the source.


Source B explains why King Edward became involved in Scotland after the death of Alexander III.

Alexander III’s death left Scotland in confusion. In 1290 Bishop Fraser of St Andrews, one of the Guardians of Scotland, wrote to Edward I of England asking for help to stop war breaking out between different men who wished to become the next King.

Why was Edward able to interfere in Scottish affairs?  (use Source B and recall in your answer)

(Introduction)

There are several reasons why Edward was able to interfere in Scots affairs after the death of Alexander III.

(From Source B)

Edward was able to interfere in Scots affairs because Bishop Fraser wrote to him on hearing of Margaret’s death asking him to come to the border to help chose the next king (1). He was also able to interfere because he appeared as a friend to the Guardians who thought he could help to stop a civil war starting in Scotland  (1). 
(From Recall)

Edward was able to interfere in Scots affairs because the Scots had earlier agreed to the Marriage of Margaret and Edward’s son in the Treaty of Birgham(1).The Scots trusted Edward because he was Margaret’s great uncle and was a legal expert (1). They had no reason to suspect he was trying to take control of Scotland but that was what Edward was hoping to achieve.(1). 

(Conclusion)

Therefore Edward was able to interfere in Scots affairs because he offered to help the Scots who in turn had little reason to distrust him. 

· Maximum 3 out of 5 for answers which refer only to recall or only to sources.



What were the main arguments used in the Great Cause about who should be King of Scots?                                                                                   (4)
(Introduction)
Although there were 13 competitors there were three main arguments in the Great Cause about who should be King of Scots.

(From Recall)

John Balliol claimed he had the strongest claim because he was descended from the eldest daughter of David, Earl of Huntingdon (1).  Robert Bruce claimed that he should be King because he was the grandson of David, Earl of Huntingdon so he was a generation closer to than John Balliol (1).  John of Hastings also a descended of David, Earl of Huntingdon said that Scotland should be divided equally among the 3 claimants (1).   Edward decided that Balliol should be King because he had the strongest claim (1).

(Conclusion)
Therefore there were many arguments put forward in the Great Cause but Balliol was eventually chosen because he was descended from the eldest daughter. 
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What will I have to do to pass? You must satisfy :

Outcome 1

(a) The knowledge selected from recall is relevant 

(b) The knowledge selected demonstrates accurate understanding of the topic, its themes and issues

You do this by:

Selecting accurate, relevant evidence from recall (your own knowledge) which shows good understanding of the topic, its themes and issues (i.e. proves you know what the question is all about).

You must also satisfy 

Outcome 2

(a) explaining historical developments and events, supported by relevant information from recall 

(c) information presented is accurate

(d) requires the response to be appropriately organised.  

You do this by:

Selecting relevant, accurate information from recall. Then organise an answer which clearly, introduces the question briefly & develops a well presented response (in paragraphs) to the question set. Finally, reach a supported conclusion.

What does this mean for me?
THE SHORT ESSAY has an 

· Introduction give a short background to the issue and outline the content of the essay

· Main section made up of paragraphs with a different point discussed in each paragraph 

· Conclusion which sums up the argument of the essay and answers the question. There should be no new information in the conclusion. 

Let’s look at a Question from Free at Last: Was Martin Luther King a successful Civil Rights leader? Discuss.
Introduction 

· Should set the scene by giving a little bit on the background to the question. 

· Signpost the arguments of the essay.  Simply state your arguments why he was successful & sometimes unsuccessful as a Civil Rights Leader. A sentence for each argument will do at this point.

Do not personalise it e.g.  I am going to write about or I feel that.

Instead of writing I am going to discuss Martin Luther King’s success as a Civil Rights leader,  (it becomes)
Martin Luther King was a successful Civil Rights Leader for a variety of reasons.

Main Section 

· This is made up of three to five paragraphs (one for each reason), depending on the essay question. 

· The first sentence of each paragraph should outline the argument or point you are making in that paragraph e.g. Martin Luther King used the media to win support for the Civil Rights Movement.
· At the end of the paragraph you should refer back to the Q. For example, This proves that Martin Luther King was a successful leader.

· The last sentence may lead onto the next paragraph e.g. Although the media won support for the Civil Rights Movement, further protest was still needed.

Conclusion 

· Use: In conclusion or In summary or To sum up. 

· Give your summary of the main arguments, for and against.  What are the most important points or evidence? What arguments or points are least important? Make a judgement.

· Finally, round off by answering the question. Remember to leave out terms like I feel that or I think.
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Task 1

Look at the following two attempts to write a short essay. Discuss and decide which is the better answer, either A or B, and explain why. (A Tip! Both have good knowledge but look at structure & organisation as well).

Question

‘Why did people leave the Highlands in the 19th Century?’    (8 marks)
Answer A

People left the Highlands in the 19th Century because of many reasons. After Culloden Clans had lost all feelings of clanship and didn’t look upon each other as a family anymore. Clan Chief’s wanted to move to Edinburgh to live luxurious lives like Southern Lords. To do this they needed an income to support this. They wanted higher rents not produce from their land. Highlanders couldn’t afford this so they were evicted.

Landowners then looked for something that could give them more income. Sheep were put on the land as the price of wool was high. The Highlanders were not thought to have enough skills to farm the sheep so they were evicted. Some of the worst evictions were in Sutherland. Peoples houses were burned by Patrick Sellor. The Sheep Industry failed to bring in enough money. Sheep were cleared out to make way for deer. Rich businessmen would pay a lot of money to own a shooting estate and others would pay a lot of money just for a weekend. Many landowners were bankrupt.

There was a potato famine and this was taken as proof that the land was overcrowded and people emigrated. The Kelp Industry failed and some landowners went bankrupt. This led to evictions as land was sold. Rich businessmen could afford to pay for large-scale-emigration. More modern machinery was invented so less workers were needed. The only place to get work for men was fishing — many drowned - and girls and women could work as gutters and packers. This didn’t bring in much income so people left in search of work in the central-belt of Scotland. This was easy to get as people only worked as a last resort as it was so bad. In the 1870’s there was poor prices for farm produce so farmers could afford few workers.

In Sutherland some people were evicted partly by Patrick Sellor as he had a racial prejudice against the Scots. He said they were ‘barbarous hordes’ and thought English speakers were superior.

More steamships and railways were invented. This made emigration easier. Some Highlanders took this opportunity and went to start a new life in places like Australia. They would have land and sheep to farm and they would receive an income. This life was better than the one in the Highlands. In 1881 the Battle of the Braes got the Highlanders laws that they couldn’t be evicted if they paid their rent.

Answer B

                       In the 19 Century many, many people left the Highlands. There are quite a few reasons for this. The failure of the Kelp industry and potato blight led to a lack of money. With little money it was difficult for Scots to pay increasing rents in the Highlands. Sheep were also being put on land and forcing Scots away. Some Highlanders looked within Scotland for work but most moved abroad to seek a better life. New transport also helped. 

                      The failure of the Kelp Industry meant that many families were left with no money or not much food coming into the house. It took quite some time to persuade the people to plant potatoes, but once they started using them as their main source of food they became dependent on them. Devastation struck though when for quite a number of years the crops were diseased with Blight. With the potato crop destroyed many Scots struggled to find food and saw their profits disappear. Consequently many Scots could not afford to pay their rent and were evicted. This led to many people leaving the Highlands to other parts of Scotland and the world.

                          Landowners didn’t normally seem to treat their tenants very well. A lot of people couldn’t afford the rent, so they paid it in food. When the Landowners were made an offer by Southern Sheep Farmers they couldn’t refuse because the farmers were willing to pay much more than the people already living there. This led to more evictions and more Scots leaving the Highlands. Some Landowners paid for their tenants to emigrate to America or Canada. Sir James Matheson who owned the Isle of Lewis at this time, did this, and also gave them extra money to start a new life in another country.

                          Other Landowners, however, were not so kind. It was heard of for the people to be rounded up by men and dogs and tied up and thrown on a ship. When these people reached Canada, they had nothing apart from the rags they wore which would never keep them warm in the harsh Canadian winter.

                          All the people who emigrated were not all forced out though. Many people left because they wanted to, because they thought they would have a better and easier life somewhere else. Not everyone who left the Highlands left Scotland. Many people started working seasonally in the big cities and gradually began working permanently. They realised that working in a big house on the South would be far more comfortable than working on the croft all day, so many people moved to Edinburgh and Glasgow as well.

                          Steamships and railways were invented and developed. This made emigration easier. Some Highlanders took this opportunity and went to start a new life in places like Australia. Now they could also travel across the west of America to farm the land. Before railways it was tough to trek across America in wagons. They would have land and cattle to farm and they would receive an income. This life was better than the one in the Highlands. 

                                  In conclusion, many people left the highlands at this time in search of food, homes, and generally a better life. The failure of Kelp and potato blight caused great hardship as did high rents and evictions. Landlords were making better profits with sheep on their land and hence cleared many Scots. Many Scots also migrated within Scotland to find work. However, most Scots would have travelled to find better opportunities such as land, cattle and income in foreign countries.

(answers are modified examples from SQA Higher Still documents)
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Task 2

Explain whether Answers A and B pass or fail the Outcomes at the beginning of this section.

Task 3

Using the following guidelines, mark Answers A and B out of 8 marks. When marking, allocate 5 marks for 5 developed points of evidence (each in a separate paragraph) and 3 marks for the organisation of the essay e.g. intro, separate paragraphs & conclusion. NB if you develop a point well you may get 2 marks for that paragraph.

The factors which decide how well you do in the short essay are:

Relevance
How relevant are the facts?   How suitable is the evidence chosen?



Accuracy
How correct and trustworthy are the presented facts?



Application
How well does the answer show understanding of the theme, its issues and concepts? How successfully does the evidence, address the issue?



Support
How well does the evidence support the explanation offered?



Organisation
How well organised is the answer?

Conclusion
How successfully does the answer meet the issue and conclusion?



Remember, in short, you must ATQ :  Answer The Question! Always make sure you look back at the question to make sure you are answering it properly. You do not want to waste time on something that has nothing to do with the question. You will get no marks for it.
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· Many candidates benefit from leaving the Short Essay to the end of the exam, giving themselves their best chance to score highly without the danger of failing to complete all three contexts. Therefore, they can write more because they know what time they have available. 

· Be careful, take your time and read the question properly. There was some misreading of short essay titles which hindered the answers to them.

· Always ATQ (Answer the question). Only write about what is asked.  For example, in the ‘Wallace and Bruce’ context candidates wrote about why Edward wanted to interfere in Scotland rather than why the Scots asked him to help; in the ‘Cradle to Grave’ context, some candidates wrote about the reaction to poverty in 1900 rather than attitudes to it.

· Write a short plan first so that you have a basic structure to help focus your answer.

· Remember structure. 3 marks are given for a clear introduction, separate paragraphs and a well rounded conclusion.

· Remember you only have approximately 16 to 20 minutes allocated to complete it.
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